e w1 e : 18] [ T gfsa Tof & 48
No. of Questions : 18 ] [ Total No. of Printed Pages

- S-221300-C
e - |Ertaes fase

Subject : Social Science

T390 | L [ quiies : 7
ne : 3 hours ] [ Maximum Marks : 7.
e : ot v g Wi

“Note S Attempt all questions.
for
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1struction :  (A) Question No. 1 is an objective type question. It has three

parts—Part (A), Part (B) and Part (C). Part (A) has Multiple

choice type questions, Part (B) has Match the following and

Part (C) has Fill in the blanks. Each part has 5 questions

and each question carries 1 mark.
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(2]

W1 (Eve-an) Wt ey e fafa
(Part-A) Choosc and write the correet option :
REGRRLCEE T SR ra———

(87 wam (%) ¥R = 5
(®) = (%) &
Which of the following is a man-made resource?
(@) Building (b) Water of waterfall
(¢c) Forest (@ Air

(i) =rEr w1 g .
(N WHR () FweEw
() Fh YR (?) =t
Factories are built ;
(a) ‘onthe streets ' ' (b) on barren land
(¢c) on agncul@@land | (d) anywhere

(iif) “wa A ms@‘%?ﬁﬁa‘?ﬁmaﬂvnﬁr%
(37) ﬁ% it
() e wiE i
(&) e Sge |
() |ft v
Paddy is cultivated the most in India :
(@) only in Rabi
() only in Kharif

. (€). only in Zayad
(@) - in all seasons
S-3C

[1x5=5]
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[31]
(h}) WW@@WW L1 M

(37) HEfwe

(7) =M

(%) g
() 79§ F =

The Russian Parliament was called :
(a) Council

(b) Diet

(¢) Duma

(d) None of these

(v) TR ﬁwa s %
(&7) diie g@% & for
(7 %@m % ferg
( F§W M & fog
(%) Sire-3em sam & fog
Anand of Gujarat is world famous for
(@) Cement Industry
() Dairy Industry
(c) Fisheries Industry

(d) Iron-Steel Industry |

S8-3C
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[4]

[1x5=5]
-1 (Eve-T ) sfaa gy wifey
(=) (=)
() wfe - () &
(if) ] e - (@) 18
(ifi) qXFrEm . - (8 w98y
(iv) e = - (]) vy Sl
(v) TOEH # g - (3 Sfaw dErE
(Part-B) Match the following :
(A) (B) .
(i) Mineral oil - (@) Mining
(i) Nuclear disarmament - (b).18 yearé
(i) Uranium - () 1983
(iv) Pisa Act “ =~ “(d) Nuclear energy
(v) Voting age 6\\% - (e) Biological resources
& .
-1 - ; .
g (@ugmﬁal F1 qfd it . [1x5=5]
(Part-C) Fiﬁin the blanks : |
(1) TSFRET % T iR yom i L gy
_____was the Natiqnal_ist_and the First President of Ifldon_esia.
() = TH — daeE §
Forestisa __ resource,
(i) g9 & TSt LT
The registration of the political
f
the organization of the pary for the clection 1s done in
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Frder

[5]
(iv) 3TERER Hifd & G T — <7 a7 |
Russia became country after the October Revolution.
(v) Wifgad 99 & faueT F a8 79 & Tgafd — a1 .

After the dissolution of the Soviet Union became the
President of Russia.

: (&) W HHIE 2 W 6 O faqerswiyg W § | Waw 9 W
2 3i arEfed ¥ (I F aifysan ws-w 30 IS ®)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.

UyA-4

Uyi-6

Each question carries 2 marks. (Maximum word-limit of

answer 1s 30 words)

B Ft H I9E fr-faea e 8 @ w0

In what areas solar energyais used?
\\
aﬂgﬁ?ﬁ S * 'ﬂg&] gRROmE ?

What are the &d effects of modern agncuiture‘?
[T, ] % ? |
What is Imperilalism;?'

ST A i S ﬁfﬁ FE? |

What is the correct process of collecting income tax?

o e I T &2

What does life expectancy show?
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Ry

| 6]
Y (W) W R 7 D 10 W SIREIETHEG e €1 Wew W W
2 ofw oy ¥ 1 (TR W iy weg-dm 50 IR €)

Instruction () Question Nos. 7 to 10 arc very short answer type questions.

W-7

UvH-8

We1-9

W1-10

e

Kach quostion carries 3 marks. (Maximum word-limit of
answor is 50 words)

Tl v W om0 B W Em

What will happen if the sex-ratio is low in a country?

[3]

T 9 | §N AR YRS TR & 9) 8§ fafae (9% @) ) [14+1+1=3]

Write about the terrible damage caused by an atomic bomb (any three).

T A A A wergl weelh wwem § 2 fafa.
Are there wage problems in your area? Write. .
ST YN F STHR 1 IR HY ¢ whd €7

How can you use the right to information?

: (T) wmn%@nwaﬁam%ammﬁaﬂaﬁa
foeq @ @?WW4WW&H%I(W#TW

w@sm%)

Instruction : (D) QL&tmn Nos. 11 to 14 are short answer type questions.

UyA-11

Each question has internal option. Each question carries
4 marks. (Maximum word-limit of answer is 75 words)

@ ST frf fo e R S e e T

Write a puragraph on how India can be developed.
3eqT/OR

wﬁwaﬁaﬁﬁmﬁw%maﬂtw—wWWW?mﬁmﬂ
| 14T

What efforts should be made to the better education of w

omen? Write
your thoughts, Write

N-3C
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[7]
T-12 ﬁﬁmﬁ%@m%ﬁmm&mﬂﬁm:

7.032

5113

3.610 3,611 3,068
2757 2,007

2,020

1,371
205 482 614 721 857

Va—dn= anW aull o
L CELE R e

() D E s % W fafay :

(i) mwwmmwm%ﬂﬁ%mm%?

(itf) v = 9fd =afea St 9t @ua et ¥ 2

(iv) ﬁ@aﬁﬁﬂﬁaﬁmﬁfﬁmﬁm&wﬁﬁ%? [1+1+1+1=4]

Answer the questlons given below by lookmg at the given dlagram

7,032

5113

3610 3,811 3,868

(i) Name the given diagram,
(i) Which country uses the most energy?
-(#if) What is the per capita energy consumption in Indja?

(iv) Which country consumes the least energy in the given diagram?

2
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900

[ 8]
erdqr/ OR

FeimTe < amva R e A9 faw wel I

I o fermear

972
964
25 950 45 946 gyq

1000

850

800

\
%Q AN q:\ fh\ A A M A » N rﬁcﬂ fé‘ W
N N 2 2 W2 R-2 RN RN &P

() v iy feiTue fra gy A @ 22

(i) W= 0 feimam frw oo § @i 22

(iii) Fﬂ!mﬁ?'ﬂlﬂ%ﬁqﬁﬁiﬁtmﬁ@ﬁém%?
(iv) ¥ 201 = feimmrgama emen fir o o e 21 T 2

See this graph of sex-rafio and answer the following questions -

Sex-ratio in India

972 964

oY A A A A
A2 N ¥ 2P > o) ) A »
N I n\‘hﬁ \%1 \QQ' »3?'\ 'LQQ\ rﬁ}\\

———— Sex-ratio
() Which decade has the highest sex-ratig?
(f])  Which decade has the lowest sex-ratio?

iii : o i
(#i)) After which decade the Sex-ratio Is seen increasing continuey ly?
Sty

(iv) In which decade has the sex-
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Wh - * - . -
at 1s the difference between a Democracy and a Fascist Dictatorship?

HEYTr/OR
TRA A SR ¥ W 5ot arfres fafauar S ar S 2

Why is there so much variation in the density of population in India?

W-13  UAR 3R sifmrear o a1 emm $ 2 [1+1+1+1=4]
What is the difference between Nationalism and Hyper-nationalism?
arerqr/OR
9 feroredt ot arg fooret o ofR fafew) 0 l

- »* - lll
Write the difference between hydro power and thermal power.

WeA-14  9oH fave g o SHA1 & IO & 591 FR 9 2 [14+1+1+1=4]

What were the causes &ﬁdefeat of Germany in the First World War?

S\\ '
&6
& AN
e faga S 9 T TS 9ST?

What was the impact of the First World War on the general public?

AT/ OR

frdor . (3) YT EEH 15 TE 16 SHITAT W97 § | YA W ° AiE
© fyored 1 WAF W W 5 3w IyEfed € 1 (IW w1 Afuwmm
gree-dr 100 U= §)

. (E) Question Nos. 15 and 16 are long answer type questions.

Instruction ' _
Each question has internal option. Each question carries
5 marks. (Maximum word-limit of answer is /00 words)
GeA-15 e i S © 7 (I+1+1+1+1=5]

Why Disarmament is needed?
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[10]
rergr/OR

viify et ¥ wnfiret wiim arwiife 0 Qe 8 fere A A

t take to prevent

33T Thd € 7

What steps can those involved in the Peace Movemen

unrest?

w16 R T o S arfas de w e T @, A 4R e W
I R 1 Y9 TS ? [T+1+1+1+1=5)

If the Reserve Bank of India does not control commercial banks, so

what will be the effect on the currency (money)-and credit?

HIFT/OR
HOT TR e € 2 A0 S o o, SR— et 1, g, S, e it
& SEvga Fi et ¥ 2 guemEw) ' |
What is caII__ed Loan? Why sdme ccinditidns;'likeli—"ihte:rest' rate, time,
guarantor, mortgage, est\\cé%‘re essential for Ioan’?'.lrixplailr'l. |
fgor : (W) 9o m@%? ' '
. K qawsﬁthﬁﬁam%rmmﬁmﬁ-q:
ﬁ@%lmmms ¥ IEifeq ¥ (SR =1 arfersay
W-HH 750 W })

Instruction : (F) Question Nos. 17 and i8 are long answer type questi
. 10ns.
Each question has internal option. Each question carri
es

6 marks. (Maximum word-limit of answer is /50 words)
-7 meﬁm—mam,wmmmWﬁm%mmw
HUE FT R GHRHH REANIED
BT 41 ThrRTeeTas ? [1+1+14 14+1+1=6]

How Parliament is dependent on the Executive in the process of |
aw

o n .
making? Whether this will have a positive or negative effect nn «1-

-3C
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[ 11]
arerr/ OR

wures W@ vfReg & el ) wem gu, el ¥ sl A
Hifeg )

Describing the relationship between Prime Minister and Council of

Ministers, discuss the works of Prile Minister.

WOR-18  TARE WeH w a4l el o § (9 o) ? [1+1+1+1+14+1=6]

Why voters don’t go to vote (any six)?

3raT/OR
TaEH iR & @ fag foee Wit samem S|

Briefly explain the voting process by writing six points.
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